Therac-25 Summary

Name _____________________________________
Date: ________________________

For the first three questions assign how much responsibility each of the defendants had in the Therac-25 incidents.  Remember, they can not all be very high.  Take the time to think about how much each contributed and assign accordingly.  
Q1
The hospital: Based on the readings and discussions, I would say that the hospital's level of responsibility is

(a) Very high: Primary responsibility for the incidents, with others having little or no responsibility.

(b) High: Major responsibility for the incidents, with others also responsible to a lesser degree.

(c) Moderate: Significant responsibility for the incidents, but others are equally responsible.

(d) Low: Minor responsibility for the incidents, but others have a higher level of responsibility.

(e) Little or none: No significant responsibility for the incidents.

Q2
The manufacturer: Based on the readings and discussions, I would say that the manufacturer's level of responsibility is

(f) Very high: Primary responsibility for the incidents, with others having little or no responsibility.

(g) High: Major responsibility for the incidents, with others also responsible to a lesser degree.

(h) Moderate: Significant responsibility for the incidents, but others are equally responsible.

(i) Low: Minor responsibility for the incidents, but others have a higher level of responsibility.

(j) Little or none: No significant responsibility for the incidents.

Q3
The programmer: Based on the readings and discussions, I would say that the programmer's level of responsibility is

(k) Very high: Primary responsibility for the incidents, with others having little or no responsibility.

(l) High: Major responsibility for the incidents, with others also responsible to a lesser degree.

(m) Moderate: Significant responsibility for the incidents, but others are equally responsible.

(n) Low: Minor responsibility for the incidents, but others have a higher level of responsibility.

(o) Little or none: No significant responsibility for the incidents.

Q4
Briefly explain why you assigned these levels of responsibility to the hospital, the manufacturer, and the programmer.

